1800

1400

1300

1000

b A

&0

400

200

1000

&0

&0

4

200

1000

8

&0

400

200

Run 5654 quartetwise, PosHelAccl/NSamplas0

=== Laser O -—
Enlrie=: 26737
Mean: 15,1387 &/- 0UDDS0
S Dhey- 0.9550 & 00041

=== Lager OFF ---
Enlries: 73232
Mean: 1.7ETE «- 0.0024
Sid Dhey: 02016 =~ 00007

ol

Run 5654 quartatwize, Diffs)

=== Laser O -—
Entries: 26737
Mean: -0.7345 </ QL0030
S Dhey: 0804 - 00021

=== Laser OFF ---
Eniries: 7322
Mean: -0.00581 < QL0030
Sid Dhey: 025371 4~ 00021

Run 5654 quartetwize, Asyms(

=== Laser ON -—
Entries: 26737
Mean: -31.3444 /- 0.1275
Sid Dev: 20,8429 &~ 00901

=== Laser OFF ---
Entries: 7322
Mean: -0.2188 «/- 01262
Sid Dev: 108026 +/- (L0E93

1401

1300

1001

&0

&0

400

200

14010

1300

100k

&0

&0

400

200

Run 5654 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 26737
Mean: 130736 /- 000062
Sbd Dwew: 10137 &b 0.0044

=== Lager OFF ---
Eniries: 7122
Mean: 1.7930 «/- 0.0023
Sid Dhev: 02006 - 00017

Run 5654 quartetwizse, Sums(

=== Laser O -—-
Entries: 26737
Mean: 270027 &~ 00117
Sid Dev: 1.9074 - 0.00&2

== Laser OFF ---
Eniries: 7322
Mean: 35008 +- 0.0037
Sid Dev: 0371258 &~ 0.0026




Hun 5654 quartetwize, PosHalAccd

1800 _— — L O —
: Erilinea: 2T
1400 — Main: 3151053478 +- 1BI74 5018
[ rd Dre: TP A128 50 TITHEENDE
1200 __ — Lussar DFF —
: Erilnema: 710
1000 — Main: FEEI4ES DEE £ 306717
[ a5 wre: 282453 D546 +- TISEEIEE
00—
&0 —
EX] __
200 [
|'-'| L L 1 I L L L L I 1 L L L I L L 1 L I L 1 1 1 L L L I L 1 1 :':1':':.
5 10 1% 20 40 45
Run 5654 quartetwise, Diifsd
1300 _— — L O —
— Critnea: 28T
1000 [ Main: 2312830 9307 s BIELTATT
- e WIETTET A5ET £ SF14TEM
: LR DFF —
i p— Erbim: 732
[ Masn: S50 1 328 £ 4304 5068
— S wre: SHECT TSRS +/- BHABIES
G0 —
400 —
200 —
[ 1 1 1 | L " 1 1 1 | 1 b 1 |:".
?I'.:'IIII}D B0k 2000 4000
Run 5654 quartetwizse, Asymsd
L === Laser ON -—-
— Entries: 26737
000 — Mean: -31.786% +- 01150
— Sbd Deav: 18,8005 +- L0E13
— === Laser OFF ---
A — Entries: 7322
L Mean: -0.066&5 «/- U092
- — Sbd Deeyv: 50630 +~ 00418
400 —
200 —
l:l _I 1 J— | ] | - I

1040 Hir &l 4l 20 a 20 4 i

Run 5654 quartetwise, NegHalAccd

— Ly 0% —

Erlnea: 2ETIT

1400 —
: Mann: J921 TEIR 2B - 19 TALE
1300 [ S Dire: ATS957 1 SEES &0 11283754
— — Lussar OFF —
— tnlnes: TRL
1000 —
— Masn: HEIEIIN] 006 « - 30ES S0
B0 — S [Dire: 2EEISE SRR +)- TET.HIEE
& —
400 __
200 i
IV p | TN T T M N TN TN TN TN [N TN O e PR T T T 11 J-C1I:'|:.
5 e 15 20 2 4 45
Run 5654 quartetwise, Sums4
1800 __ — Ly 0% —
1400 : Crlnaa: 2ETIF
—_ Main: PEIZITIEETAD +- JET A TS
- : S Drwre: S0 01,1 TEE &0 2ITE0. 18T
—_ — Lumar OFF —
1B : tnlne: TR
—_ Maan: TIF1E0E A6 = 41647711
00 : S (Dnire: 77380 ML 130 4.~ SR 1EIT
& —
400 __
200 %
l:l L L I I L L L L I L L L L I L L | — l i 1 I L 1 L L I 1 L L L I L L L I X 1 I:F.
e 20 K & i1H & ] T an



e

3000

2800

2000

1800

1000

500

1400

1300

1000

b A

&0

400

200

3500

3000

2500

2000

1800

1000

500

Run 5654 quartetwize, Asyms USbgl

Al

1L

e 0

=== Laser O -—
Enlrie=: 26737
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